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L BHEHEZE. 2. AAEEATH - 5T5REs > ZEEFER 3. mrmEAEH

1. Enlarge the independent set {[1,1,—1],[1,2,—2]} to be a basis for R3.

Answer: {[1,1,-1],[1,2,-3],[0,1,0]}
1 1 1 0 0 11 1 00
1 2 01 0l ~|01 -1 10
-1 -2 0 0 1 00 0 11

The piovts in column 1, 2, and 4. Thus there’s a basis {[1, 1, —1], [1,2, —3],[0,1,0]}
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2. Find a basis for the subspace W = sp([—2,3,1],[3,—1,2],[1,2,3],[-1,5,4]) in R3.

Answer: {[-2,3,1],[3,-1, 2]} is a basis for W
-2 3 1 -1 1 2 3 4
3 -1 2 5| ~|(01T11
1 2 3 4 0000
The piovts in column 1 and 2. Thus there’s a basis {[—2, 3, 1], [3, —1,2]}
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